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Area-2

1. A rectangular field is 70 m 50 cm long and 40 m wide. What is the cost of watering it at the rate of 5
rupees per square meter?

2. A town is to be planned in a square shape. One side of the town is to be 12.5 km. How much land is
needed to create the town?

3. Aroom is 8.5 m long and 5.5 wide. Entire floor is to be paved with square tiles whose side is 10 cm.
How many tiles will be needed?

4. The length of a rectangle is 24 cm and it’s breadth is 50 mm. Find its area in sgq. mm.

5. Find the area of the below given figure.
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6. The area of a rectangular field is 500 sq. m and it’s length is 50 m. Find the cost of fencing it at Rs. 575
per meter.

7. Area of a rectangle is 6.72 sq. m. If it’s length is 320 cm then find out it’s breadth.
8. Length of a rectangle is 48 cm and it’s area is 960 cm?. Find out the breadth of the rectangle.

9. The area of wooden picture frame is 750 sqg. cm. It is 15 cm wide. Find the length of wooden stick
required to construct it.

10. A square garden having side 25 m is cut into 125 smaller rectangular flower beds. If the length of
each flower bed is 2.5 m, find it’s width.
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